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Note :

(i) AII the four questions are compulsory.

(ii) AII questions carry equal weightage,

l. Answer the following question in about 600 words.

Discuss how advancement in technology can bring
social change in India.

OR

Describe the need of protective discrimination for
minorities and weaker sections of Indian society as
provided in the Constitution of India.
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2. Answer the following question in about 600 words.

Describe the role of teacher in integrating the
educational influence of different agencies.

OR

Discuss important strategies for achieving
universalization of primary education.

Answer any fioe of the following questions in

about L20 words each :

(i) "lndia is a pluralistic and multi-cultural
society." Explain.

Describe the steps taken by the Government of
India for the removal of illiteracy.

What is meant by 'Empowerment of
Women' ? Explain.

Mention pre-requisites of good school - community
relationship.

Discuss the objectives of 'Education for All'.

Discuss the meaning and importance of
'Operation Blackboard'.

Explain the concept of 'equalization of
educational opportunities'.

(ii)

(iii)

(iv)

(v)

(vi)

(vii)



4. Answer the following question in about 600 words.

List out important educational sites which you as a
teacher along with your class would like to visit.
How will you proceed to organise such visits ? What
advantages do you expect from the visits ?
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